Problem Set }b)\ 0 M >

2. Organic compounds unh.kc mo:g:mu:

compounds; contain

(A) hydrogen

(B) oxj(g[en‘-' . _

(C) . nitrogen f}'(}lﬂ\kg .

3. ‘The bonding of gwo amino acid molecules 10
form a portion: of a prorein chain involves .. s
(A) the addition of a watet molecule
@ the release of a water molecule
. (©) the addicion of a nitrogen atum '
v (DY therelcaseofacarbondmxi e ‘me §cuf !
- (Ee) an increase in activation encrgﬁ e
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(C) Enzymes increas¢ the rate of reaction.

((E}) Enzymes increase the activation energy. \ o
(E) Enzymes do not cbnnge the free énergy of . ]
products. ¢
. Which is NOT a characteristic of pmtems?
" (A) Can function as enzymes = d
(B) Contain peptide bonds Md& o (§ ( ( ('{ A
(C) Areimportant in cell signaling ( Ko
@ May be used as an energy soutce ;
(E) Contain nitrogenous bases
Quwtions 17-20 refer to the fOﬂO;NTmS dh%‘"‘m 1
showing the polypepndc structure
of a protein. \
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17. Indicates the carboxyl group of an amino acid
19. Ir;dicﬁtes an amine éfOi*P of an amino acifl A C(\
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1. Prokaryotic and éuitaryodc '<':cl'l§. hare wmahpf ,'
the following features? '

@) A plasma membrane G M/
(B) Complex fagella (9 gy kL J\ﬂ 4 W,J.)
D\ (©) Membrane-bound organelles ' V YA
) (D) A membmne’-'bound nucleus”

(E) Linear chtoniosbi'{lé's'iii;éd:t:"af: [?NR and

protci I Lt
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" 3. "Which of th¢ following has 2 cell wallf
() Antmaleell o L b
{Q . (B) letcen I'.. A 6 .. MR .k EV\M" bd\( .
(©). Some bactetia’ . A\} Q\(;w i)
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4. Which of the following is 2 typical,component
. ofthe plasma membrane of a eukaryotic cell?:
(A). DN&:H::-:.:*.: 2 irh it :._‘..'"r*;tunfx hayonas 4
'D . ) ) (B) mmﬂ\ L |- i 1 ""!'-H."' ,'I-‘-'! e STWE
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(7 (C) Lysosome - s gk
(D) Nucleolus | 28
‘(E) Vacuole . i
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9. Which of the followingcells would most likely
have the greatést conicentrdtion of densely
packed nutor:l'lorldﬂa"gﬂ do
(A) A yeast celbin S phnsc of the cell cycle
~'(B) A xylem cell injold . wood of a tree. _
: (8 An oxygenated red blooci cell d o) s{&,‘_s*
\ A smooth muﬂle cell in the dlaphmg,m KL
> (E) A sensor}r netve cell 'ln theinner'ear . WOS vy C
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12, Dﬂ:;i;h-bof the following f an accurate
conclusion that can be made only fro
observed results? ¥ ok

(A) The dialysis-tubing bagweight less.

(B) QIumu has not diffused across the
: ~ dialysis-tubing membrane.

{©)) The dialysis-rubing bag is selectively

- permeable.
(1)) A net moveiment of water into the beaker
has occurred.
(E) "The water potential in the beaket is

' greater than in the bag.

14, Which of the following best desc

11. Which of the 'fouowmg'égsﬁ?dfbe identified
by the presence of ribosomes, simple flagel
and a cell wall, along with the absence of

. membraneﬂboun‘d'.‘q;ganeljles? il
e

(A) Aﬂ amocba
A bacterium
(C) A muscle cell
(D) An algae

(E) A virus
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ribes the
system aftec it ccaches cyuilibaum?
(A) Water will have & et movement {nto the
dialysis-tubing bag: A
The osmotic pressure inside the dialysis-
rubing bag will be the same a8 the
DSMOLIC PrEssure il the surrounding
solution.

(¢) K1 will have a net mumnv{h into the

dialysis-tubing bag.

(N Glucose will havea net movement out of
_ the dialysis-tubing bag.

(£) ‘The solution inside of the dialysis: wbing

hag will have the same starch
ding

(B)

concentration s che surtoun
solution.



18. Chloroplast C,‘
19, Mitochondrion

20. Central vacuole P‘

» Review Questions

For questions 14, pleasc use the following answer 2. Absence of cozymes from this organclle can
o storage discases such as Tay-Sachs disease-

choices:
A, Cell wall 3, This organclle is the host for the Krebs cycle
B. Mitochondrion oxidative phosphorylatdon of respiration.

C. Ribosome ' e 3 .

D. Lysosome 4 ::: (:ll;;gmcllc is synthesized in the nuclcol

E. Golgi apparatus

1. ‘This organelle is present in plant cells, but not
animal cells.
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5. Which of the following best describes the fluid

mosaic model of membranes?

5 A The membrane consists of a phospholipid

: bilayer with proteins of various lengths and
sizes located on the exterior portions of the
membrang,

B. The membrane consists of a phospholipid

" bilayer with proteins of various lengths and

sizes located in the interiot of the membranc,

C. 'The membrane is compased of a phospholipid
bilayer with proteins of uniform fengths and
sizes located in the interior of the membrane.

, The membrane contins a phospholipid

€ V . bilayer with proteins of various lengths and

-sizes interspersed among the phospholipids.
E. The membranc consists of a phospholipid
bilayee with proteins of uniform length and
| . size inverspersed among the phospholipids.
6. Which of the following types of cell eransport
A. The movement of a particle across a selec-
tively permeable membrane down its con- !3_'.&'?
centration gradient o ;
@ The movement of a particle across a selec- 7 Which of the following structutes is present in

tively permeable rnembrane againse its con- rokaryotic cells?
centration gradient - i g ¢

C. The movement of water down its concentra- A. Nucleus
tion gradient across selectively permeable " B, Mitochondria ‘
membranes () Cell wall -
\J D. The movement of a sodium ion from an area L\ D. Golgi apparatus ( »
\) of higher concentration to an area of lower Co* Y E. Lysosome et
concentration

E. The movement of a particle across a selec-
tively permeable membrane with the assis- ¢ . (¢
ranee of the membranes transport proteins b
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A. Chloroplast: the site of photosynthesis
5 energy production in phl:'lt ezgn =
. Peraxisome: organelle that produces hydro-
gen peroxide as a by-product of reactions
involved: in the breakdown of farry acids,
5 ag;! c!emﬁmion of alcohol in the liver
g .[gl apparatus: structure to which proteins,
ﬁftm other macromolecules are sent to >
bem ed by the addition of sugars and ‘ 050MS
A molecules to form glycoproteins i e®
. \Rough endop : iculum: membranc- Q/ i
: bmmd_mpnl:ﬂc cking on its cyto- Q/S/
plumlc- mrﬁce,‘ in in lipid synthesis,
detoxification, and carbohydrate metabolism
E. Nucbw:.:he.oonml center in cukaryotic
aells.n:luf:hmad:uit:formplimion
transcription, and ponmnscriplional modl‘
ficagon of RNA

9. The destruction of which of the followi
n{ost cripple a cell’s ability o u:;‘:s Zoulﬁ
division? it
A, Microfilaments
B. Intermediate flaments
C. Microtubules
(" D. Actin fbens
E. Kenatin fibers

Matching Column® . )
\ VD

i, Produces ATP (A) GOIgl apparatus
ﬁ
(B !\'iit:mmhulﬂ :) ! (_/

2, Produces proteins
3. Packages and secretes substances {C) Rough endoplasmic eticulum % . A

5 B

4, Contains hydrotytic enzymes () Mitochondria

5. Directly assists with cell division () Lysosomes

6, Whichof the following is not aormally found iv 4 plant cell?

(A mitochpndda
{B) en“tioplasmlcmii:ulum
“\ (C) plastids

\\ (D) centrioles
| 7. Which of the following s presentin prokaryot
0] mitochondiid

@ ribosomes

( h |
\ - \ {Q endoplasmic reticutum

e vell?



12. Smooth B.R. carrios out all of the foliowing activiti
{A) lipid production EXCEPY
(B) detoxification
\ {C) connects rough E.R to the Golgi
@ produces RNA
13. An animal cell In & hypertontc solution would
{A) swell
(B) swell and exhibit turgor '
@exhiblt plasmolysls — %\I\( \V\L
(D) shrink and then swell
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17. Which of the {ollowing best charucte
rigid and unchanging

SV (B ﬂydbmmyingﬁomceﬁmca“
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10 the figure below, which shows the plasma membrane.
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The following questions refer

| 19 ldenﬂ!y!hehydmphﬂlcponionof alipid molecule. Cg
20 [dently the proteins invotved in ransport. D
21 ldenﬁfymemcttﬂeimomdmeell«tmencommﬂcaﬁOu A
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(A) They activate G-protein in the cytoplasm of the cell dx@
.. (B). They bind to steroid messengers on the surface of a cell.
They belong to a class of plasma membrane receptors that exhibit enzyme activity.
) TheyalkmforthopassmeoﬁonssuchasNa*tommrouahﬂmplmmmbm
ofaecik

25. Which of the followmg is correct about signal transduction pathways?

(A) Signal transduction pathways are found only in the cells of the most complex
animals.

(B) Signal transduction pathways have evolved meoemly along with the development
of enlarged brain size in mammals.

[ (C)) In the signal transduction pathway, a single molecule can stimulate the release
of thousands of molecules of product within a cell,
- {D)- Signal transduction pathways are unique in that receptors that stimulate the

pathway are located only on the surface of a plasma membrane,
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<. All of the following statements are correct about enzymes EXCEPY
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8. wmotmmuovnngcmbemdmwemmomm«w

reaction?
(A) the rate of substrate formed

(B) the decrease {n temperature in thesys:eli: & S&\) k AQ/“ 5\1 e \_33 QVG d(k C' “ S

D (C) the rate of enzyme used up
:ihe rate of substrate used up

. Iv 7Y

10. Which of the following best describes the reaction shown below?

A+ B = AB + energy Z
{(A) hydrolysis T
\g {B) an exergonic reaction W\O’h > L Q :
G\ O W SN

(C) an endergonic reaction
(D) carabollsm

mphbelowdemonsmm““;d@ e 2L
one ls not, mical reacilons. G I catalyzed by an enzyme,

Rate of Reaction

¥
— Progress of Reaction —»=

11. Which letter shows the energy of activation for the enzyme-catalyzed reaction?

WA
(8) B “
[ ® )
(D) D
12. Which letter shows die potential energy of the product?

A
BB








